Mojave Basin Area Watermaster

TransfereeTransferorType of(Transferred to:)(Transferred from:)Transfer	Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Adelanto, City OfAdes, John and DevonTempCarryover in Lieu of Replacement	t 18	\$526.00	\$9,468.00	Alto	5/24/2023
Adelanto, City OfBass Trust, Newton T.TempCarryover in Lieu of Replacement	t 279	\$526.00	\$146,754.00	Alto	5/24/2023
Adelanto, City OfBeinschroth Family TrustTempCarryover in Lieu of Replacement	t 62	\$526.00	\$32,612.00	Alto	5/24/2023
Adelanto, City OfBeinschroth, Andy EricTempCarryover in Lieu of Replacement	t 137	\$526.00	\$72,062.00	Alto	5/24/2023
Adelanto, City OfBruneau, KarenTempCarryover in Lieu of Replacement	t 4	\$526.00	\$2,104.00	Alto	5/24/2023
Adelanto, City OfBryant, IanTempCarryover in Lieu of Replacement	t 16	\$526.00	\$8,416.00	Alto	5/24/2023
Adelanto, City OfBunnell, DickTempCarryover in Lieu of Replacement	t 12	\$526.00	\$6,312.00	Alto	5/24/2023
Adelanto, City OfDLW Revocable TrustTempCarryover in Lieu of Replacement	t 39	\$526.00	\$20,514.00	Alto	5/24/2023
Adelanto, City OfDolch Living Trust Robert and JudithTempCarryover in Lieu of Replacement	t 50	\$526.00	\$26,300.00	Alto	5/24/2023
Adelanto, City OfDora Land, Inc.TempCarryover in Lieu of Replacement	t 9	\$526.00	\$4,734.00	Alto	5/24/2023
Adelanto, City OfFinch, JeniferTempCarryover in Lieu of Replacement	t 17	\$526.00	\$8,942.00	Alto	5/24/2023
Adelanto, City OfFisher Trust, Jerome R.TempCarryover in Lieu of Replacement	t 349	\$526.00	\$183,574.00	Alto	5/24/2023
Adelanto, City OfLow, DeanTempCarryover in Lieu of Replacement	t 110	\$526.00	\$57,860.00	Alto	5/24/2023
Adelanto, City OfLuckey 2010 Revocable TrustTempCarryover in Lieu of Replacement	t 164	\$526.00	\$86,264.00	Alto	5/24/2023
Adelanto, City OfPaustell, Joan BeinschrothTempCarryover in Lieu of Replacement	t 84	\$526.00	\$44,184.00	Alto	5/24/2023
Adelanto, City OfRue Ranch, Inc.TempCarryover in Lieu of Replacement	t 16	\$526.00	\$8,416.00	Alto	5/24/2023
Adelanto, City OfWakula Family TrustTempCarryover in Lieu of Replacement	t 6	\$526.00	\$3,156.00	Alto	5/24/2023
Agcon, Inc.Hi-Grade Materials CompanyTempCarryover in Lieu of Replacement	t 55	\$515.00	\$28,325.00	Alto	5/24/2023
Apple Valley Heights County Water DistrictBastianon Revocable TrustTempCarryover in Lieu of Replacement	t 41	\$526.00	\$21,566.00	Alto	5/24/2023
Apple Valley View Mutual Water CompanyLawson, Ernest and BarbaraTempCarryover in Lieu of Replacement	t 2	\$526.00	\$1,052.00	Alto	5/24/2023
Golden State Water CompanyAmerican States Water CompanyTempCarryover in Lieu of Replacement	t 428	\$488.00	\$208,864.00	Alto	5/24/2023
Hesperia - Golf Course, City ofHalanna Equities IIITempCarryover in Lieu of Replacement	t 7	\$500.00	\$3,500.00	Alto	5/24/2023

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Hesperia - Golf Course, City of	Hamilton Family Trust	TempCarryover in Lieu of Replaceme	nt 52	\$500.00	\$26,000.00	Alto	5/24/2023
Hesperia - Golf Course, City of	Hesperia, City of	TempCarryover in Lieu of Replaceme	nt 76	\$525.60	\$39,945.60	Alto	5/24/2023
Hesperia - Golf Course, City of	Holy Heavenly Lake, LLC	TempCarryover in Lieu of Replaceme	nt 4	\$500.00	\$2,000.00	Alto	5/24/2023
Hesperia - Golf Course, City of	Summit Valley Ranch, LLC	TempCarryover in Lieu of Replaceme	nt 13	\$500.00	\$6,500.00	Alto	5/24/2023
Hesperia Water District	Hesperia, City of	TempCarryover in Lieu of Replaceme	nt 3,629	\$525.60	\$1,907,402.40	Alto	5/24/2023
Hesperia Water District	Johnston, Harriet and Johnston, Lawrence W.	TempCarryover in Lieu of Replaceme	nt 12	\$500.00	\$6,000.00	Alto	5/24/2023
Hesperia Water District	Vogler, Albert H.	TempCarryover in Lieu of Replaceme	nt 35	\$500.00	\$17,500.00	Alto	5/24/2023
Johnson, Carlean	Bastianon Revocable Trust	TempCarryover in Lieu of Replaceme	nt 1	\$526.00	\$526.00	Alto	5/24/2023
Johnson, Paul - Industrial	CalMat Company	TempCarryover FPA	10	\$475.00	\$4,750.00	Alto	5/24/2023
Langley, James	Box, Geary S. and Laura	TempCarryover FPA	6	\$450.00	\$2,700.00	Alto	5/24/2023
Langley, James	CalPortland Company - Agriculture	TempCarryover FPA	354	\$450.00	\$159,300.00	Alto	5/24/2023
Langley, James	Johnston, Harriet and Johnston, Lawrence W.	TempCarryover FPA	25	\$380.00	\$9,500.00	Alto	5/24/2023
Langley, James	Johnston, Harriet and Johnston, Lawrence W.	TempCarryover FPA	26	\$380.00	\$9,880.00	Alto	5/24/2023
Langley, James	Scray, Michelle A. Trust	TempCarryover FPA	8	\$400.00	\$3,200.00	Alto	5/24/2023
Langley, James	West, Howard and Suzy	TempCarryover FPA	40	\$485.00	\$19,400.00	Alto	5/24/2023
Langley, James - Industrial	CalPortland Company - Oro Grande Plant	TempCarryover FPA	445	\$490.00	\$218,050.00	Alto	5/24/2023
Mariana Ranchos County Water District	Beinschroth Family Trust	TempCarryover in Lieu of Replaceme	nt 43	\$526.00	\$22,618.00	Alto	5/24/2023
Robertson's Ready Mix	Service Rock Products Corporation	Carryover - Included with BAP	11	\$0.00	\$0.00	Alto	5/24/2023
San Bernardino County Service Area 64	American States Water Company	TempCarryover in Lieu of Replaceme	nt 61	\$488.00	\$29,768.00	Alto	5/24/2023
San Bernardino County Service Area 64	San Bernardino County Service Area 42	TempCarryover in Lieu of Replaceme	nt 96	\$500.00	\$48,000.00	Alto	5/24/2023
San Bernardino County Service Area 70J	American States Water Company	TempCarryover in Lieu of Replaceme	nt 61	\$488.00	\$29,768.00	Alto	5/24/2023
San Bernardino County Service Area 70J	San Bernardino County Service Area 42	TempCarryover in Lieu of Replaceme	nt 96	\$500.00	\$48,000.00	Alto	5/24/2023

Mojave Basin Area Watermaster

Silver Lakes AssociationBrown, Bobby G. and Valeria R.Temp-Carryover in Lieu of Replacement23\$526.00\$12.098.00Alto\$524/2023Silver Lakes AssociationFrazier, et al.Temp-Carryover in Lieu of Replacement28\$526.00\$14.728.00Alto\$524/2023Silver Lakes AssociationHaas, Bryan C. and Hinkle, Mary H.Temp-Carryover in Lieu of Replacement25\$526.00\$12.3.610.00Alto\$524/2023Silver Lakes AssociationKemper Campbell RanchTemp-Carryover in Lieu of Replacement25\$526.00\$18.41.000Alto\$524/2023Silver Lakes AssociationStorm, RandalTemp-Carryover in Lieu of Replacement25\$526.00\$18.41.000Alto\$524/2023Silver Lakes AssociationMard, Ken and BarbaaTemp-Carryover in Lieu of Replacement26\$526.00\$13.150.00Alto\$524/2023Silver Lakes AssociationLake Arrowhead Community Services DistrictTemp-Carryover in Lieu of Replacement26\$526.00\$10.90.01Alto\$524/2023Spring Valley Lake AssociationLake Arrowhead Community Services DistrictTemp-Carryover in Lieu of Replacement26\$526.00\$10.90.01Alto\$524/2023Spring Valley Lake AssociationLake Arrowhead Community Services DistrictTemp-Carryover in Lieu of Replacement20\$526.00\$10.90.00Alto\$524/2023Spring Valley Lake AssociationNum Family TrustTemp-Carryover in Lieu of Replacement20\$526.00\$10.52.00Alto\$524/2023 <td< th=""><th>Transferee (Transferred to:)</th><th>Transferor (Transferred from:)</th><th>Type of Transfer</th><th>Amount of Transfer (Acre-feet)</th><th>Price per Acre-foot</th><th>Total Cost of Transfer</th><th>Subarea</th><th>Date Accepted by Watermaster</th></td<>	Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Silver Lakes AssociationFrazier, et al.Temp-Carryover in Lieu of Replacement28\$52.6.00\$14,728.00Alto\$724/2023Silver Lakes AssociationHaas, Bryan C. and Hinkle, Mary H.Temp-Carryover in Lieu of Replacement5\$52.6.00\$2.6.30.00Alto\$724/2023Silver Lakes AssociationKemper Campbell RanchTemp-Carryover in Lieu of Replacement35\$52.6.00\$113,161.00Alto\$724/2023Silver Lakes AssociationStorm, RandallTemp-Carryover in Lieu of Replacement35\$52.6.00\$18,410.00Alto\$724/2023Silver Lakes AssociationThompson Living Trust, James A. and Sula B.Temp-Carryover in Lieu of Replacement6\$52.6.00\$13,150.00Alto\$724/2023Silver Lakes AssociationWard, Ken and BarbaraTemp-Carryover in Lieu of Replacement25\$52.6.00\$13,150.00Alto\$724/2023Spring Valley Lake AssociationLake Arrowhead Community Services DistrictTemp-Carryover in Lieu of Replacement36\$52.6.00\$10,52.00Alto\$724/2023Spring Valley Lake AssociationNun Family TrustTemp-Carryover in Lieu of Replacement26\$52.6.00\$10,52.00Alto\$724/2023Spring Valley Lake AssociationNun Family TrustTemp-Carryover in Lieu of Replacement29\$52.6.00\$10,52.00Alto\$724/2023Spring Valley Lake AssociationNun Family TrustTemp-Carryover in Lieu of Replacement20\$52.6.00\$10,52.00Alto\$724/2023Spring Valley Community	Silver Lakes Association	Brown, Bobby G. and Valeria R.	TempCarryover in Lieu of Replacement	nt 23	\$526.00	\$12,098.00	Alto	5/24/2023
Silver Lakes AssociationHaas, Bryan C. and Hinkle, Mary H.Temp-Carryover in Lieu of Replacement5\$526.00\$2,630.00Alto\$242023Silver Lakes AssociationKemper Campbell RanchTemp-Carryover in Lieu of Replacement25\$526.00\$18,410.00Alto\$242023Silver Lakes AssociationStorm, RandallTemp-Carryover in Lieu of Replacement35\$526.00\$18,410.00Alto\$242023Silver Lakes AssociationTompson Living Trust, James A. and Sula B.Temp-Carryover in Lieu of Replacement6\$526.00\$13,150.00Alto\$242023Silver Lakes AssociationWard, Ken and BarbaraTemp-Carryover in Lieu of Replacement32\$526.00\$19,0412.00Alto\$242023Spring Valley Lake AssociationLake Arrowhead Community Services DistrictTemp-Carryover in Lieu of Replacement32\$526.00\$19,0412.00Alto\$242023Spring Valley Lake AssociationLawon, Ernest and BarbaraTemp-Carryover in Lieu of Replacement32\$526.00\$10,021.00Alto\$242023Spring Valley Lake AssociationNum Family TrustTemp-Carryover in Lieu of Replacement19\$526.00\$10,021.00Alto\$242023Spring Valley Lake AssociationNum Family TrustTemp-Carryover in Lieu of Replacement19\$526.00\$10,021.00Alto\$242023Spring Valley Lake AssociationNum Family TrustTemp-Carryover in Lieu of Replacement22\$526.00\$116,772.00Alto\$242023Spring Valley Community College D	Silver Lakes Association	Fischer Revocable Living Trust	TempCarryover in Lieu of Replacement	nt 19	\$526.00	\$9,994.00	Alto	5/24/2023
Silver Lakes AssociationKemper Campbell RanchTemp-Carryover in Lieu of Replacement 235\$526.00\$123,610.00Alto\$24/2023Silver Lakes AssociationStorm, RandallTemp-Carryover in Lieu of Replacement 35\$526.00\$18,410.00Alto\$724/2023Silver Lakes AssociationThompson Living Trust, James A. and Sula B.Temp-Carryover in Lieu of Replacement 25\$526.00\$13,156.00Alto\$724/2023Silver Lakes AssociationWard, Ken and BarbaraTemp-Carryover in Lieu of Replacement 25\$526.00\$13,150.00Alto\$724/2023Spring Valley Lake AssociationLake Arrowhead Community Services DistrictTemp-Carryover in Lieu of Replacement 26\$526.00\$190,412.00Alto\$724/2023Spring Valley Lake AssociationLawson, Ernest and BarbaraTemp-Carryover in Lieu of Replacement 26\$526.00\$10,052.00Alto\$724/2023Spring Valley Lake AssociationNunn Family TrustTemp-Carryover in Lieu of Replacement 20\$526.00\$10,052.00Alto\$724/2023Spring Valley Lake AssociationNunn Family TrustTemp-Carryover in Lieu of Replacement 20\$526.00\$1,052.00Alto\$724/2023Spring Valley Community College DistrictThompson Living Trust, James A. and Sula B.Temp-Carryover in Lieu of Replacement 20\$526.00\$116,772.00Alto\$724/2023Victor Valley Memorial ParkLangley, JamesTemp-Carryover in Lieu of Replacement 51\$515.00\$26,265.00Alto\$724/2023Victor Valley Memorial ParkBrown, JenniferTemp-Ca	Silver Lakes Association	Frazier, et al.	TempCarryover in Lieu of Replacement	nt 28	\$526.00	\$14,728.00	Alto	5/24/2023
Silver Lakes AssociationStom, RandalTempCarryover in Lieu of Replacement35\$526.00\$18,41.00Alto\$524.023Silver Lakes AssociationTompson Living Trust, James A. and SulaTempCarryover in Lieu of Replacement6\$526.00\$3,150.00Alto\$524.023Silver Lakes AssociationKake Arrowhead Community Services DistricTempCarryover in Lieu of Replacement52\$526.00\$19,041.20Alto\$524.023Spring Valley Lake AssociationLake Arrowhead Community Services DistricTempCarryover in Lieu of Replacement52\$526.00\$19,041.20Alto\$524.023Spring Valley Lake AssociationNun Family TrustTempCarryover in Lieu of Replacement79\$526.00\$19,041.20Alto\$524.023Spring Valley Lake AssociationNun Family TrustTempCarryover in Lieu of Replacement79\$526.00\$10,052.00Alto\$524.023Spring Valley Community College DistrictBioschroh Family TrustTempCarryover in Lieu of Replacement70\$526.00\$116,772.00Alto\$524.023Victor Valley Community College DistrictTompson Living Trust, James A. and SulaTempCarryover in Lieu of Replacement51\$526.00\$116,772.00Alto\$524.023Victor Valley Memorial ParkLangley, JamesTempCarryover in Lieu of Replacement51\$515.00\$10,520.00Alto\$524.023Victor Valley Memorial ParkBiown, JenniferTempCarryover in Lieu of Replacement51\$526.00\$116,720.00Alto\$524.	Silver Lakes Association	Haas, Bryan C. and Hinkle, Mary H.	TempCarryover in Lieu of Replacement	nt 5	\$526.00	\$2,630.00	Alto	5/24/2023
Silver Lakes AssociationThompson Living Trust, James A. and Sula B.TempCarryover in Lieu of Replacement6\$526.00\$3,156.00Alto5/24/2023Silver Lakes AssociationWard, Ken and BarbaraTempCarryover in Lieu of Replacement25\$526.00\$13,150.00Alto5/24/2023Spring Valley Lake AssociationLake Arrowhead Community Services DistrictTempCarryover in Lieu of Replacement362\$526.00\$19,0412.00Alto5/24/2023Spring Valley Lake AssociationLawson, Ernest and BarbaraTempCarryover in Lieu of Replacement2\$526.00\$10,52.00Alto5/24/2023Spring Valley Lake AssociationNunn Family TrustTempCarryover in Lieu of Replacement9\$526.00\$10,52.00Alto5/24/2023Spring Valley Lake AssociationNunn Family TrustTempCarryover in Lieu of Replacement9\$526.00\$10,52.00Alto5/24/2023Victor Valley Community College DistrictBeinschroth Family TrustTempCarryover in Lieu of Replacement22\$526.00\$116,772.00Alto5/24/2023Victor Valley Memorial ParkLangley, James A. and Sula B.TempCarryover in Lieu of Replacement22\$526.00\$116,772.00Alto5/24/2023Victor Valley Memorial ParkLangley, JamesTempCarryover in Lieu of Replacement51\$515.00\$26,265.00Alto\$/24/2023Victor Valley Memorial ParkBrown, JenniferTempCarryover in Lieu of Replacement20\$526.00\$10,520.00Alto\$/24/2023	Silver Lakes Association	Kemper Campbell Ranch	TempCarryover in Lieu of Replacement	nt 235	\$526.00	\$123,610.00	Alto	5/24/2023
Silver Lakes AssociationWard, Ken and BarbaraTempCarryover in Lieu of Replacement25\$526.00\$13,150.00Alto\$5/24/2023Spring Valley Lake AssociationLake Arrowhead Community Services DistrictTempCarryover in Lieu of Replacement362\$526.00\$190,412.00Alto\$5/24/2023Spring Valley Lake AssociationLawson, Ernest and BarbaraTempCarryover in Lieu of Replacement2\$526.00\$190,412.00Alto\$5/24/2023Spring Valley Lake AssociationNunn Family TrustTempCarryover in Lieu of Replacement19\$526.00\$9,994.00Alto\$5/24/2023Thunderbird County Water DistrictBeinschroth Family TrustTempCarryover in Lieu of Replacement46\$526.00\$24,196.00Alto\$5/24/2023Victor Valley Community College DistrictThompson Living Trust, James A. and Sula B.TempCarryover in Lieu of Replacement51\$515.00\$26,265.00Alto\$5/24/2023Victor Valley Memorial ParkLangley, JamesTempCarryover in Lieu of Replacement51\$515.00\$26,265.00Alto\$5/24/2023Victor ville Water District, ID#1Brown, JenniferTempCarryover in Lieu of Replacement74\$525.60\$31,150.00Alto\$5/24/2023Victorville Water District, ID#1Jes Ranch Water CompanyTempCarryover in Lieu of Replacement74\$526.00\$11,052.00Alto\$5/24/2023Victorville Water District, ID#1Jes Ranch Water CompanyTempCarryover in Lieu of Replacement74\$526.00\$1,003,248	Silver Lakes Association	Storm, Randall	TempCarryover in Lieu of Replacement	nt 35	\$526.00	\$18,410.00	Alto	5/24/2023
Spring Valley Lake AssociationLake Arrowhead Community Services DistrictTempCarryover in Lieu of Replacement362\$526.00\$190,412.00Alto5/24/2023Spring Valley Lake AssociationLawson, Ernest and BarbaraTempCarryover in Lieu of Replacement2\$526.00\$1,052.00Alto5/24/2023Spring Valley Lake AssociationNunn Family TrustTempCarryover in Lieu of Replacement19\$526.00\$9,994.00Alto5/24/2023Thunderbird County Water DistrictBeinschroth Family TrustTempCarryover in Lieu of Replacement46\$526.00\$24,196.00Alto5/24/2023Victor Valley Community College DistrictThompson Living Trust, James A. and Sula B.TempCarryover in Lieu of Replacement22\$526.00\$116,772.00Alto5/24/2023Victor Valley Memorial ParkLangley, JamesTempCarryover in Lieu of Replacement51\$515.00\$26,265.00Alto5/24/2023Victor ville Water District, ID#1Brown, JenniferTempCarryover in Lieu of Replacement74\$525.60\$10,520.00Alto5/24/2023Victor ville Water District, ID#1Helendale Community Services DistrictTempCarryover in Lieu of Replacement74\$525.60\$391,046.40Alto5/24/2023Victor ville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement74\$526.00\$1,603,248.00Alto5/24/2023Victor ville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement74\$52	Silver Lakes Association	Thompson Living Trust, James A. and Sula B.	TempCarryover in Lieu of Replacement	nt 6	\$526.00	\$3,156.00	Alto	5/24/2023
Spring Valley Lake AssociationLawson, Ernest and BarbaraTempCarryover in Lieu of Replacement2\$526.00\$1,052.00Alto\$524/2023Spring Valley Lake AssociationNunn Family TrustTempCarryover in Lieu of Replacement19\$526.00\$9,994.00Alto\$5/24/2023Thunderbird County Water DistrictBeinschroth Family TrustTempCarryover in Lieu of Replacement46\$526.00\$24,196.00Alto\$5/24/2023Victor Valley Community College DistrictThompson Living Trust, James A. and Sula B.TempCarryover in Lieu of Replacement22\$526.00\$116,772.00Alto\$5/24/2023Victor Valley Memorial ParkLangley, JamesTempCarryover in Lieu of Replacement51\$515.00\$26,265.00Alto\$5/24/2023Victor ville Water District, ID#1Brown, JenniferTempCarryover in Lieu of Replacement744\$525.60\$391,046.40Alto\$/24/2023Victor ville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement744\$526.00\$1,603,248.00Alto\$/24/2023Victor ville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement744\$525.60\$391,046.40Alto\$/24/2023Victor ville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement744\$526.00\$1,603,248.00Alto\$/24/2023Victor ville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement744\$526.00\$1,6	Silver Lakes Association	Ward, Ken and Barbara	TempCarryover in Lieu of Replacement	nt 25	\$526.00	\$13,150.00	Alto	5/24/2023
Spring Valley Lake AssociationNunn Family TrustTempCarryover in Lieu of Replacement19\$526.00\$9,994.00Alto5/24/2023Thunderbird County Water DistrictBeinschroth Family TrustTempCarryover in Lieu of Replacement46\$526.00\$24,196.00Alto5/24/2023Victor Valley Community College DistrictThompson Living Trust, James A. and Sula B.TempCarryover in Lieu of Replacement222\$526.00\$116,772.00Alto5/24/2023Victor Valley Memorial ParkLangley, JamesTempCarryover in Lieu of Replacement51\$515.00\$26,265.00Alto5/24/2023Victorville Water District, ID#1Brown, JenniferTempCarryover in Lieu of Replacement74\$525.60\$391,046.40Alto5/24/2023Victorville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement744\$526.00\$1,603,248.00Alto5/24/2023Victorville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement744\$526.00\$1,603,248.00Alto5/24/2023	Spring Valley Lake Association	Lake Arrowhead Community Services District	TempCarryover in Lieu of Replacement	nt 362	\$526.00	\$190,412.00	Alto	5/24/2023
Thunderbird County Water DistrictBeinschroth Family TrustTempCarryover in Lieu of Replacement46\$526.00\$24,196.00Alto5/24/2023Victor Valley Community College DistrictThompson Living Trust, James A. and Sula B.TempCarryover in Lieu of Replacement222\$526.00\$116,772.00Alto5/24/2023Victor Valley Memorial ParkLangley, JamesTempCarryover in Lieu of Replacement51\$515.00\$26,265.00Alto5/24/2023Victor ville Water District, ID#1Brown, JenniferTempCarryover in Lieu of Replacement744\$525.60\$391,046.40Alto5/24/2023Victorville Water District, ID#1Helendale Community Services DistrictTempCarryover in Lieu of Replacement3,048\$526.00\$1,603,248.00Alto5/24/2023Victorville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement3,048\$526.00\$1,603,248.00Alto5/24/2023	Spring Valley Lake Association	Lawson, Ernest and Barbara	TempCarryover in Lieu of Replacement	nt 2	\$526.00	\$1,052.00	Alto	5/24/2023
Victor Valley Community College DistrictThompson Living Trust, James A. and Sula B.TempCarryover in Lieu of Replacement222\$526.00\$116,772.00Alto5/24/2023Victor Valley Memorial ParkLangley, JamesTempCarryover in Lieu of Replacement51\$515.00\$26,265.00Alto5/24/2023Victor ville Water District, ID#1Brown, JenniferTempCarryover in Lieu of Replacement744\$525.60\$391,046.40Alto5/24/2023Victor ville Water District, ID#1Helendale Community Services DistrictTempCarryover in Lieu of Replacement744\$525.60\$391,046.40Alto5/24/2023Victor ville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement3,048\$526.00\$1,603,248.00Alto5/24/2023	Spring Valley Lake Association	Nunn Family Trust	TempCarryover in Lieu of Replacement	nt 19	\$526.00	\$9,994.00	Alto	5/24/2023
Victor Valley Memorial ParkLangley, JamesTempCarryover in Lieu of Replacement51\$515.00\$26,265.00Alto\$524/2023Victorville Water District, ID#1Brown, JenniferTempCarryover in Lieu of Replacement20\$526.00\$10,520.00Alto5/24/2023Victorville Water District, ID#1Helendale Community Services DistrictTempCarryover in Lieu of Replacement744\$525.60\$391,046.40Alto5/24/2023Victorville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement3,048\$526.00\$1,603,248.00Alto5/24/2023	Thunderbird County Water District	Beinschroth Family Trust	TempCarryover in Lieu of Replacement	nt 46	\$526.00	\$24,196.00	Alto	5/24/2023
Victorville Water District, ID#1Brown, JenniferTempCarryover in Lieu of Replacement20\$526.00\$10,520.00Alto5/24/2023Victorville Water District, ID#1Helendale Community Services DistrictTempCarryover in Lieu of Replacement744\$525.60\$391,046.40Alto5/24/2023Victorville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement3,048\$526.00\$1,603,248.00Alto5/24/2023	Victor Valley Community College District	Thompson Living Trust, James A. and Sula B.	TempCarryover in Lieu of Replacement	nt 222	\$526.00	\$116,772.00	Alto	5/24/2023
Victorville Water District, ID#1Helendale Community Services DistrictTempCarryover in Lieu of Replacement744\$525.60\$391,046.40Alto5/24/2023Victorville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement3,048\$526.00\$1,603,248.00Alto5/24/2023	Victor Valley Memorial Park	Langley, James	TempCarryover in Lieu of Replacement	nt 51	\$515.00	\$26,265.00	Alto	5/24/2023
Victorville Water District, ID#1Jess Ranch Water CompanyTempCarryover in Lieu of Replacement 3,048\$526.00\$1,603,248.00Alto5/24/2023	Victorville Water District, ID#1	Brown, Jennifer	TempCarryover in Lieu of Replacement	nt 20	\$526.00	\$10,520.00	Alto	5/24/2023
	Victorville Water District, ID#1	Helendale Community Services District	TempCarryover in Lieu of Replacement	nt 744	\$525.60	\$391,046.40	Alto	5/24/2023
Victorville Water District, ID#1 Johnson, Paul - Industrial TempCarrvover in Lieu of Replacement 10 \$526.00 \$5.260.00 Alto 5/24/2023	Victorville Water District, ID#1	Jess Ranch Water Company	TempCarryover in Lieu of Replacement	nt 3,048	\$526.00	\$1,603,248.00	Alto	5/24/2023
\mathbf{r}	Victorville Water District, ID#1	Johnson, Paul - Industrial	TempCarryover in Lieu of Replacement	nt 10	\$526.00	\$5,260.00	Alto	5/24/2023
Victorville Water District, ID#1Lawson, Ernest and BarbaraTempCarryover in Lieu of Replacement4\$526.00\$2,104.00Alto5/24/2023	Victorville Water District, ID#1	Lawson, Ernest and Barbara	TempCarryover in Lieu of Replacement	nt 4	\$526.00	\$2,104.00	Alto	5/24/2023
Victorville Water District, ID#1Rim Properties, A General PartnershipTempCarryover in Lieu of Replacement5\$526.00\$2,630.00Alto5/24/2023	Victorville Water District, ID#1	Rim Properties, A General Partnership	TempCarryover in Lieu of Replacement	nt 5	\$526.00	\$2,630.00	Alto	5/24/2023
Victorville Water District, ID#1Sudmeier, Glenn W.TempCarryover in Lieu of Replacement10\$526.00\$5,260.00Alto5/24/2023	Victorville Water District, ID#1	Sudmeier, Glenn W.	TempCarryover in Lieu of Replacement	nt 10	\$526.00	\$5,260.00	Alto	5/24/2023
Victorville Water District, ID#1Thrasher, GaryTempCarryover in Lieu of Replacement205\$526.00\$107,830.00Alto5/24/2023	Victorville Water District, ID#1	Thrasher, Gary	TempCarryover in Lieu of Replacement	nt 205	\$526.00	\$107,830.00	Alto	5/24/2023

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Victorville Water District, ID#1	Wagner Living Trust	TempCarryover in Lieu of Replaceme	ent 674	\$526.00	\$354,524.00	Alto	5/24/2023
Victorville Water District, ID#1	West, Jimmie E.	TempCarryover in Lieu of Replaceme	ent 5	\$526.00	\$2,630.00	Alto	5/24/2023
Victorville Water District, ID#2	Navajo Mutual Water Company	TempCarryover in Lieu of Replaceme	ent 45	\$525.00	\$23,625.00	Alto	5/24/2023
Hesperia Water District	Holway Jeffrey R and Patricia Gage	TempCarryover FPA	5	\$520.00	\$2,600.00	Alto	9/27/2023
Hesperia Water District	Holway, Jeffrey R	TempCarryover FPA	7	\$520.00	\$3,640.00	Alto	9/27/2023
Hesperia Water District	Hunt, Connie	TempCarryover FPA	37	\$520.00	\$19,240.00	Alto	9/27/2023
Hesperia Water District	Johnson, Ronald	TempCarryover FPA	18	\$520.00	\$9,360.00	Alto	9/27/2023
Hesperia Water District	Langley, James	TempCarryover FPA	411	\$520.00	\$213,720.00	Alto	9/27/2023
Hesperia Water District	Langley, James - Industrial	TempCarryover FPA	445	\$520.00	\$231,400.00	Alto	9/27/2023
Hesperia Water District	McKinney, Paula	TempCarryover FPA	19	\$520.00	\$9,880.00	Alto	9/27/2023
Hesperia Water District	Polich, Donna	TempCarryover FPA	36	\$520.00	\$18,720.00	Alto	9/27/2023
Victorville Water District, ID#1	Federal Bureau of Prisons, Victorville	TempFPA	374	\$525.60	\$196,574.40	Alto	9/27/2023
		Alto Subtotal (78)	14,209		\$7,376,065.80		

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Uppal, Gagan	Italmood Inc., et al.	Carryover - Included with BAP	43			Baja	10/25/2022
Archibek, Eric	Hilarides 1998 Revocable Family Trust	TempCarryover FPA	68	\$45.00	\$3,060.00	Baja	5/24/2023
Archibek, Eric	Lake Wainani Owners Association	TempCarryover FPA	298	\$0.00	\$0.00	Baja	5/24/2023
Archibek, Eric	Lake Wainani Owners Association	TempCarryover FPA	79	\$0.00	\$0.00	Baja	5/24/2023
Archibek, Eric	Western Horizon Associates, Inc.	TempFPA	239	\$0.00	\$0.00	Baja	5/24/2023
Bubier, Diane Gail	New Springs Limited Partnership	TempCarryover in Lieu of Replacement	nt 23	\$100.00	\$2,300.00	Baja	5/24/2023
Calico Lakes Homeowners Association	Van Dam Family Trust, Glen and Jennifer	TempCarryover FPA	296	\$225.00	\$66,600.00	Baja	5/24/2023
Clark, Gary and Beth A.	Archibek, Eric	TempCarryover in Lieu of Replacement	nt 68	\$0.00	\$0.00	Baja	5/24/2023
Clark, Gary and Beth A.	Archibek, Eric	TempCarryover in Lieu of Replacement	nt 155	\$0.00	\$0.00	Baja	5/24/2023
Crystal Lakes Property Owners Association	Calico Lakes Homeowners Association	TempCarryover in Lieu of Replaceme	nt 275	\$0.00	\$0.00	Baja	5/24/2023
Crystal Lakes Property Owners Association	Newberry Springs Recreational Lakes Association	TempCarryover in Lieu of Replacement	nt 11	\$0.00	\$0.00	Baja	5/24/2023
Daggett Community Services District	Southern California Edison Company	TempCarryover FPA	45	\$0.00	\$0.00	Baja	5/24/2023
Daggett Community Services District	Southern California Edison Company	TempCarryover in Lieu of Replacement	nt 88	\$0.00	\$0.00	Baja	5/24/2023
Daggett Ranch, LLC	Hiett, Harry L.	TempCarryover in Lieu of Replacement	nt 2	\$0.00	\$0.00	Baja	5/24/2023
De Jong Family Trust	Morris Trust, Julia V.	TempCarryover FPA	68	\$50.00	\$3,400.00	Baja	5/24/2023
Gabrych, Eugene	Kasner, Robert	TempCarryover FPA	200	\$30.00	\$6,000.00	Baja	5/24/2023
Gabrych, Eugene	Kasner, Robert	TempCarryover in Lieu of Replacement	nt 438	\$30.00	\$13,140.00	Baja	5/24/2023
Hackbarth, Edward E.	Kasner Family Limited Partnership	TempCarryover FPA	24	\$30.00	\$720.00	Baja	5/24/2023
Hackbarth, Edward E.	Kasner, Robert	TempCarryover FPA	281	\$30.00	\$8,430.00	Baja	5/24/2023
Hackbarth, Edward E.	Kasner, Robert	TempCarryover FPA	344	\$30.00	\$10,320.00	Baja	5/24/2023
Horton Family Trust	Evert Family Trust	TempCarryover in Lieu of Replacement	nt 5	\$100.00	\$500.00	Baja	5/24/2023
Irvin, Bertrand W.	Jackson, James N. Jr Revocable Living Trust	TempCarryover FPA	3	\$75.00	\$225.00	Baja	5/24/2023

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Lake Jodie Property Owners Association	Newberry Springs Recreational Lakes Association	TempCarryover in Lieu of Replacemen	nt 11	\$0.00	\$0.00	Baja	5/24/2023
Lake Jodie Property Owners Association	O. F. D. L., Inc.	TempCarryover in Lieu of Replacemen	nt 84	\$0.00	\$0.00	Baja	5/24/2023
Lake Jodie Property Owners Association	Van Dam Family Trust, Glen and Jennifer	TempCarryover in Lieu of Replacemen	nt 191	\$225.00	\$42,975.00	Baja	5/24/2023
Lake Wainani Owners Association	Archibek, Eric	TempFPA	239	\$0.00	\$0.00	Baja	5/24/2023
Martin, Michael D. and Arlene D.	Jackson, James N. Jr Revocable Living Trust	TempCarryover FPA	10	\$100.00	\$1,000.00	Baja	5/24/2023
Newberry Springs Recreational Lakes Association	New Springs Limited Partnership	TempCarryover FPA	100	\$100.00	\$10,000.00	Baja	5/24/2023
NSSLC, Inc.	Liang, Yuan - I and Tzu - Mei Chen	TempCarryover FPA	16	\$100.00	\$1,600.00	Baja	5/24/2023
NSSLC, Inc.	Mizrahie, et al.	TempCarryover FPA	33	\$100.00	\$3,300.00	Baja	5/24/2023
NSSLC, Inc.	New Springs Limited Partnership	TempCarryover FPA	31	\$100.00	\$3,100.00	Baja	5/24/2023
O. F. D. L., Inc.	Van Dam Family Trust, Glen and Jennifer	TempCarryover FPA	84	\$225.00	\$18,900.00	Baja	5/24/2023
Quiros, Fransisco J. and Herrmann, Ronald	Liang, Yuan - I and Tzu - Mei Chen	TempCarryover FPA	29	\$100.00	\$2,900.00	Baja	5/24/2023
Sagabean-Barker, Kanoeolokelani L.	New Springs Limited Partnership	TempCarryover in Lieu of Replacemen	nt 10	\$100.00	\$1,000.00	Baja	5/24/2023
Smith, Denise dba Amerequine Beauty, Inc	New Springs Limited Partnership	TempCarryover in Lieu of Replacemen	nt 3	\$100.00	\$300.00	Baja	5/24/2023
St. Antony Coptic Orthodox Monastery	New Springs Limited Partnership	TempCarryover FPA	267	\$100.00	\$26,700.00	Baja	5/24/2023
St. Antony Coptic Orthodox Monastery	New Springs Limited Partnership	TempCarryover in Lieu of Replacemen	nt 91	\$75.00	\$6,825.00	Baja	5/24/2023
Vaage, Gage V.	Kosharek, Nancy	Carryover - Included with BAP	13	\$0.00	\$0.00	Baja	5/24/2023
Van Bastelaar, Alphonse	Evert Family Trust	TempCarryover in Lieu of Replacemen	nt 4	\$100.00	\$400.00	Baja	5/24/2023
Western Horizon Associates, Inc.	Archibek, Eric	TempCarryover in Lieu of Replacemen	nt 222	\$0.00	\$0.00	Baja	5/24/2023
De Jong Family Trust	Bredelis, Ronald C. and Jean	TempCarryover FPA	5	\$75.00	\$375.00	Baja	7/26/2023
De Jong Family Trust	Hass, Pauline L.	TempCarryover FPA	7	\$75.00	\$525.00	Baja	7/26/2023
Archibek, Eric	Pearce, Craig L.	TempFPA	29			Baja	9/27/2023
Calico Lakes Homeowners Association	Harter, Joe and Sue	TempCarryover FPA	100	\$100.00	\$10,000.00	Baja	9/27/2023

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Cheyenne Lake, Inc.	Newberry Springs Recreational Lakes Association	TempFPA	15	\$0.00	\$0.00	Baja	9/27/2023
Cheyenne Lake, Inc.	Newberry Springs Recreational Lakes Association	TempCarryover FPA	30	\$0.00	\$0.00	Baja	9/27/2023
Clark, Gary and Beth A.	Archibek, Eric	TempFPA	29	\$0.00	\$0.00	Baja	9/27/2023
Crystal Lakes Property Owners Association	Newberry Springs Recreational Lakes Association	TempCarryover FPA	20	\$0.00	\$0.00	Baja	9/27/2023
Crystal Lakes Property Owners Association	Newberry Springs Recreational Lakes Association	TempFPA	15	\$0.00	\$0.00	Baja	9/27/2023
Daggett Land Holdings LLC	Daggett Solar Power 3 LLC	TempFPA	37	\$0.00	\$0.00	Baja	9/27/2023
Daggett Land Holdings LLC	Daggett Solar Power 3 LLC	TempCarryover FPA	41	\$0.00	\$0.00	Baja	9/27/2023
De Jong Family Trust	Gray, George F. and Betty E.	TempCarryover FPA	22	\$75.00	\$1,650.00	Baja	9/27/2023
De Jong Family Trust	Hyatt, James and Brenda	TempCarryover FPA	40	\$75.00	\$3,000.00	Baja	9/27/2023
Gabrych, Eugene	Vander Dussen Trust, Agnes and Edward	TempCarryover FPA	363	\$30.00	\$10,890.00	Baja	9/27/2023
GenOn California South, LP	Mojave Water Agency	TempFPA	250	\$25.00	\$6,250.00	Baja	9/27/2023
Hang, Phu Quang	Langley Revocable Trust and Sharon Lanagley	Carryover - Included with BAP	4			Baja	9/27/2023
Horton Family Trust	Newberry Springs Recreational Lakes Association	TempCarryover FPA	31	\$0.00	\$0.00	Baja	9/27/2023
Horton Family Trust	Newberry Springs Recreational Lakes Association	TempFPA	15	\$0.00	\$0.00	Baja	9/27/2023
Lake Jodie Property Owners Association	Newberry Springs Recreational Lakes Association	TempCarryover FPA	20	\$0.00	\$0.00	Baja	9/27/2023
Lake Jodie Property Owners Association	Newberry Springs Recreational Lakes Association	TempFPA	15	\$0.00	\$0.00	Baja	9/27/2023
Newberry Springs Recreational Lakes Association	Garg, Om P.	TempCarryover FPA	109	\$100.00	\$10,900.00	Baja	9/27/2023
Newberry Springs Recreational Lakes Association	Lin, Kuan Jung and Chung, Der-Bing	TempFPA	93	\$100.00	\$9,300.00	Baja	9/27/2023
O. F. D. L., Inc.	Harter, Joe and Sue	TempCarryover FPA	165	\$100.00	\$16,500.00	Baja	9/27/2023
Rossi Family Trust, James Lawrence Rossi and Nac	on Harter, Joe and Sue	TempCarryover FPA	100	\$30.00	\$3,000.00	Baja	9/27/2023
Sundown Lakes, Inc.	Newberry Springs Recreational Lakes Association	TempCarryover FPA	30	\$0.00	\$0.00	Baja	9/27/2023
Sundown Lakes, Inc.	Newberry Springs Recreational Lakes Association	TempFPA	15	\$0.00	\$0.00	Baja	9/27/2023

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Wet Set, Inc.	Newberry Springs Recreational Lakes Assoc	ciation TempCarryover FPA	30	\$0.00	\$0.00	Baja	9/27/2023
Wet Set, Inc.	Newberry Springs Recreational Lakes Assoc	ciation TempFPA	15	\$0.00	\$0.00	Baja	9/27/2023
WLSR, Inc.	Newberry Springs Recreational Lakes Assoc	ciation TempCarryover FPA	30	\$0.00	\$0.00	Baja	9/27/2023
		Baja Subtotal (69)	6,166		\$306,085.00		

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Adelanto, City Of	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	85	\$55.00	\$4,675.00	C/A	5/24/2023
Adelanto, City Of	Victorville Water District, ID#1	TempCarryover in Lieu of Makeup	163	\$55.00	\$8,965.00	C/A	5/24/2023
Ades, John and Devon	Victorville Water District, ID#1	TempCarryover in Lieu of Makeup	1	\$55.00	\$55.00	C/A	5/24/2023
Agcon, Inc.	Haskins, James J.	TempCarryover in Lieu of Makeup	19	\$50.00	\$950.00	C/A	5/24/2023
Apple Valley Foothill County Water District	Apple Valley Heights County Water District	TempCarryover in Lieu of Makeup	8	\$35.00	\$280.00	C/A	5/24/2023
Apple Valley Heights County Water District	Apple Valley Heights County Water District	TempCarryover in Lieu of Makeup	6	\$0.00	\$0.00	C/A	5/24/2023
Apple Valley View Mutual Water Company	Apple Valley Heights County Water District	TempCarryover in Lieu of Makeup	2	\$35.00	\$70.00	C/A	5/24/2023
Apple Valley, Town Of	Gabrych, Eugene	TempFPA in Lieu of Makeup	41	\$55.00	\$2,255.00	C/A	5/24/2023
Bass Trust, Newton T.	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	1	\$55.00	\$55.00	C/A	5/24/2023
Box, Geary S. and Laura	Werner, Andrew J.	TempFPA in Lieu of Makeup	1	\$60.00	\$60.00	C/A	5/24/2023
Brown, Jennifer	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	1	\$55.00	\$55.00	C/A	5/24/2023
CalPortland Company - Oro Grande Plant	Hanify, Michael D., dba - White Bear Ranch	TempFPA in Lieu of Makeup	84	\$50.00	\$4,200.00	C/A	5/24/2023
CalPortland Company - Oro Grande Plant	Haskins, James J.	TempFPA in Lieu of Makeup	12	\$55.00	\$660.00	C/A	5/24/2023
CDFW - Mojave Narrows Regional Park	Golden State Water Company	TempCarryover in Lieu of Makeup	101	\$50.00	\$5,050.00	C/A	5/24/2023
Cemex, Inc.	BNSF Railway Company	TempFPA in Lieu of Makeup	53	\$60.00	\$3,180.00	C/A	5/24/2023
Cemex, Inc.	Dorrance, David W. and Tamela L.	TempFPA in Lieu of Makeup	11	\$60.00	\$660.00	C/A	5/24/2023
Cemex, Inc.	Werner, Andrew J.	TempFPA in Lieu of Makeup	8	\$60.00	\$480.00	C/A	5/24/2023
Golden State Water Company	Golden State Water Company	TempCarryover in Lieu of Makeup	45	\$50.00	\$2,250.00	C/A	5/24/2023
Halanna Equities III	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	1	\$55.00	\$55.00	C/A	5/24/2023
Helendale Community Services District	Helendale Community Services District	TempFPA in Lieu of Makeup	93	\$0.00	\$0.00	C/A	5/24/2023
Helendale Community Services District	Helendale Community Services District	TempCarryover in Lieu of Makeup	41	\$0.00	\$0.00	C/A	5/24/2023
Hesperia - Golf Course, City of	Contratto, Ersula	TempCarryover in Lieu of Makeup	33	\$55.00	\$1,815.00	C/A	5/24/2023

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Hesperia Water District	Contratto, Ersula	TempCarryover in Lieu of Makeup	65	\$55.00	\$3,575.00	C/A	5/24/2023
Hesperia Water District	Jordan Family Trust	TempCarryover in Lieu of Makeup	295	\$55.00	\$16,225.00	C/A	5/24/2023
Hesperia Water District	Kim, Jin S. and Hyun H.	TempCarryover in Lieu of Makeup	124	\$55.00	\$6,820.00	C/A	5/24/2023
Hesperia Water District	Victorville Water District, ID#1	TempCarryover in Lieu of Makeup	264	\$55.00	\$14,520.00	C/A	5/24/2023
Hi-Grade Materials Company	Haskins, James J.	TempCarryover in Lieu of Makeup	1	\$50.00	\$50.00	C/A	5/24/2023
Hi-Grade Materials Company	Haskins, James J.	TempFPA in Lieu of Makeup	2	\$50.00	\$100.00	C/A	5/24/2023
Jess Ranch Water Company	Hill Family Trust and Hill's Ranch, Inc.	TempCarryover in Lieu of Makeup	81	\$15.00	\$1,215.00	C/A	5/24/2023
Johnson, Carlean	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	2	\$55.00	\$110.00	C/A	5/24/2023
Johnston, Harriet and Johnston, Lawrence W.	Werner, Andrew J.	TempFPA in Lieu of Makeup	1	\$60.00	\$60.00	C/A	5/24/2023
Kemper Campbell Ranch	Sexton, Rodney A. and Sexton, Derek R.	TempFPA in Lieu of Makeup	3	\$55.00	\$165.00	C/A	5/24/2023
Liberty Utilities (Apple Valley Ranchos Water) Co	orpHill Family Trust and Hill's Ranch, Inc.	TempCarryover in Lieu of Makeup	690	\$15.00	\$10,350.00	C/A	5/24/2023
Mariana Ranchos County Water District	Brommer House Trust	TempFPA in Lieu of Makeup	14	\$50.00	\$700.00	C/A	5/24/2023
Navajo Mutual Water Company	Brommer House Trust	TempFPA in Lieu of Makeup	2	\$50.00	\$100.00	C/A	5/24/2023
Phelan Piñon Hills Community Services District	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	10	\$55.00	\$550.00	C/A	5/24/2023
Rancheritos Mutual Water Company	Brommer House Trust	TempFPA in Lieu of Makeup	8	\$50.00	\$400.00	C/A	5/24/2023
San Bernardino County Service Area 42	Golden State Water Company	TempCarryover in Lieu of Makeup	6	\$50.00	\$300.00	C/A	5/24/2023
San Bernardino County Service Area 64	Brommer House Trust	TempCarryover in Lieu of Makeup	170	\$50.00	\$8,500.00	C/A	5/24/2023
San Bernardino County Service Area 64	Brommer House Trust	TempFPA in Lieu of Makeup	14	\$50.00	\$700.00	C/A	5/24/2023
San Bernardino County Service Area 70J	Golden State Water Company	TempCarryover in Lieu of Makeup	50	\$50.00	\$2,500.00	C/A	5/24/2023
Silver Lakes Association	Gabrych, Eugene	TempFPA in Lieu of Makeup	39	\$55.00	\$2,145.00	C/A	5/24/2023
Silver Lakes Association	Gabrych, Eugene	TempCarryover in Lieu of Makeup	82	\$55.00	\$4,510.00	C/A	5/24/2023
Silver Lakes Association	Sexton, Rodney A. and Sexton, Derek R.	TempFPA in Lieu of Makeup	118	\$55.00	\$6,490.00	C/A	5/24/2023

Mojave Basin Area Watermaster

Temporary Transfers 2022-23 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Spring Valley Lake Association	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	47	\$55.00	\$2,585.00	C/A	5/24/2023
Spring Valley Lake Association	Victorville Water District, ID#1	TempCarryover in Lieu of Makeup	133	\$55.00	\$7,315.00	C/A	5/24/2023
Summit Valley Ranch, LLC	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	2	\$55.00	\$110.00	C/A	5/24/2023
Thunderbird County Water District	Sexton, Rodney A. and Sexton, Derek R.	TempFPA in Lieu of Makeup	7	\$55.00	\$385.00	C/A	5/24/2023
Victor Valley Community College District	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	1	\$55.00	\$55.00	C/A	5/24/2023
Victor Valley Community College District	Sexton, Rodney A. and Sexton, Derek R.	TempFPA in Lieu of Makeup	11	\$55.00	\$605.00	C/A	5/24/2023
Victorville Water District, ID#1	Victorville Water District, ID#1	TempCarryover in Lieu of Makeup	1,133	\$0.00	\$0.00	C/A	5/24/2023
Victorville Water District, ID#2	Victorville Water District, ID#1	TempCarryover in Lieu of Makeup	141	\$0.00	\$0.00	C/A	5/24/2023
Ward, Ken and Barbara	Sexton, Rodney A. and Sexton, Derek R.	TempCarryover in Lieu of Makeup	1	\$50.00	\$50.00	C/A	5/24/2023
		C/A Subtotal (53)	4,327		\$126,960.00		
Helendale Community Services District	Chafa, Larry R. and Delinda C.	Carryover - Included with BAP	30			Centro	12/8/2022
Helendale Community Services District	Howard, et al.	Carryover - Included with BAP	28			Centro	1/25/2023
Barstow Community Developers, LLC	Victorville Water District, ID#1	TempCarryover in Lieu of Replacem	ent 2	\$55.00	\$110.00	Centro	5/24/2023
Grill, Nicholas P. and Millie D.	Harmsen Family Trust	TempCarryover in Lieu of Replacem	ent 113	\$25.00	\$2,825.00	Centro	5/24/2023
Robertson's Ready Mix	Service Rock Products Corporation	Carryover - Included with BAP	498	\$0.00	\$0.00	Centro	5/24/2023
Ruisch Trust, Dale W. and Nellie H.	Pacific Gas and Electric Company	TempCarryover FPA	200	\$1.00	\$200.00	Centro	5/24/2023
BNSF Railway Company	Van Leeuwen Trust, John A. and Ietie	Carryover - Included with BAP	953			Centro	7/26/2023
Huerta, Hector	Golden State Water Company	TempCarryover FPA	800	\$5.00	\$4,000.00	Centro	9/27/2023
Reido Farms, LLC	Eygnor, Robert E.	Carryover - Included with BAP	33			Centro	9/27/2023
Vernola Trust, Pat and Mary Ann	Golden State Water Company	TempCarryover FPA	1,600	\$5.00	\$8,000.00	Centro	9/27/2023
		Centro Subtotal (10)	4,257		\$15,135.00		

Mojave Basin Area Watermaster

Temporary Transfers 2022-23 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Lucerne Valley Unified School District	Dahlquist, George R.	Carryover - Included with BAP	341			Este	12/8/2022
Ahn Revocable Living Trust	Ahn, Chun Soo and David	TempCarryover in Lieu of Replaceme	nt 29	\$0.00	\$0.00	Este	5/24/2023
Chung, et al.	Pak, Kae Soo and Myong Hui Kang	TempCarryover in Lieu of Replaceme	nt 38	\$60.00	\$2,280.00	Este	5/24/2023
Desert Dawn Mutual Water Company	West End Mutual Water Company	TempCarryover in Lieu of Replaceme	nt 9	\$60.00	\$540.00	Este	5/24/2023
Jubilee Mutual Water Company	Mitsubishi Cement Corporation	TempCarryover in Lieu of Replaceme	nt 5	\$75.00	\$375.00	Este	5/24/2023
Oasis World Mission	Ahn, Chun Soo and David	TempCarryover in Lieu of Replaceme	nt 93	\$0.00	\$0.00	Este	5/24/2023
Omya California, Inc.	Mitsubishi Cement Corporation	TempCarryover in Lieu of Replaceme	nt 30	\$75.00	\$2,250.00	Este	5/24/2023
Robertson's Ready Mix	Mitsubishi Cement Corporation	TempCarryover in Lieu of Replaceme	nt 126	\$75.00	\$9,450.00	Este	5/24/2023
San Bernardino County Service Area 29	Club View Partners	TempCarryover in Lieu of Replaceme	nt 36	\$0.00	\$0.00	Este	5/24/2023
Specialty Minerals, Inc.	Mitsubishi Cement Corporation	TempCarryover in Lieu of Replaceme	nt 29	\$75.00	\$2,175.00	Este	5/24/2023
Juniper Riviera County Water District	Bell, Charles H. Trust dated March 7, 2014	TempCarryover FPA	50	\$50.00	\$2,500.00	Este	7/26/2023
Juniper Riviera County Water District	Gaeta, Miguel and Maria	TempCarryover FPA	50	\$50.00	\$2,500.00	Este	7/26/2023
		Este Subtotal (12)	836		\$22,070.00		

Total (222) 29,795

\$7,846,315.80